


Exercice 3

mex z = X
, +2xz

I
XI

E
X .

+53as d'écarts .*I

X1 +x26 X, + yz -Xy = 6

-X
,
+ Xz = 3 - X 1 + Xz = 3

X ,
,

X 2 : 0

X .
+y z = 2

X, + yz -Xy +E
- x1 + 52 +y vificielles

.

min X5+X6

max-X5 -Xo

x5= 6 -X
,

-x2 + Xy

Xo = 3 +X
,

-X

- 16 - x,
- xz +xu) - (3 + x,

-Xz)
=

- 3 + 2x2 - Xy

X, X + XyXyX5X6 XR

1 / O 20 -10 09

12/ 2000 co

Y3 202000 2

x5110 -2206

XG -1100023

.....
X, * XyXyX5X6 Xi--

S I 2 O O -10 - 2 E

32 3 ⑧ 000-2 - 6

-- 2x102000
x5200 -22 -13

X
2 -1100023



· * XyXyX5X6 XB

1 / O O - 2 -
& O - 2 I

32
0 ⑧ - 4 · 0 - 2 - 9

X
, 1 0 200 0 2

X5
0 0 - 2 -11 - I I

X
2011002

to solution n'existe mes un tous les produits murginoux sont négatifs.


